
DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

 

 

M
u

n
icip

i 

E
l P

a
p

io
l 

T
ip

u
s d

’actu
ació

 

E
d

ific
a

c
ió

 

E
xp

ed
ie

n
t 

9
0

4
8

5
0

/2
5

 

D
ata 

G
e

n
e

r 2
0

2
6

 

T
ip

u
s d

e
 d

o
cu

m
en

t 

P
ro

je
c

te
 d

’e
x

e
c

u
c

ió
 

G
estió

 

D
ire

c
c

ió
 d

e
 S

e
rv

e
is d

e
 l’E

sp
a

i P
ú

b
lic

 

R
e

d
acció

 d
e p

ro
jec

te 

D
ire

c
c

ió
 d

e
 S

e
rv

e
is d

e
 l’E

sp
a

i P
ú

b
lic

 

         

P
ro

je
c

te
 d

e
 la

 S
a

la
 

P
o

liv
a

le
n

t d
e

 E
l 

P
a

p
io

l 

  
R

e
lació

 d
e

 d
o

cu
m

en
ts i vo

lu
m

s 

0
1-16

. M
e

m
ò

ria
 i A

n
n

e
x

o
s 

17-18
. P

là
n

o
ls 

19
. P

le
c

 d
e

 P
re

sc
rip

c
io

n
s T

è
c

n
iq

u
e

s 

2
0

. P
re

ssu
p

o
st 

 

/2
0

 

Volums 

Jordi 

Rodríguez 

Bassa - D
N
I 

47815572

K (TC
A
T)

Firm
ado digitalm
ente por 

Jordi Rodríguez Bassa - D
N
I 

47815572K (TC
A
T) 

N
om
bre de reconocim
iento 

(D
N
): c=
ES, o=
À
rea 

M
etropolitana de Barcelona, 

2.5.4.97=
VA
TES-P0800258F, 

ou=
Em
pleat públic de nivell 

m
ig, sn=
Rodríguez Bassa - D
N
I 

47815572K, givenN
am
e=
Jordi, 

serialN
um
ber=
ID
C
ES-4781557

2K, cn=
Jordi Rodríguez Bassa - 

D
N
I 47815572K (TC
A
T) 

Fecha: 2026.01.29 11:28:01 

+
01'00'

O
lga 

Salve 

Ruiz - D
N
I 

45791032

X (TC
A
T)

Firm
ado 

digitalm
ente 

por O
lga Salve 

Ruiz - D
N
I 

45791032X 

(TC
A
T) 

Fecha: 

2026.01.29 

09:11:20 

+
01'00'

C
ristina 

Saez Talan 

- D
N
I 

52624085

Q
 (TC
A
T)

Firm
ado digitalm
ente por 

C
ristina Saez Talan - D
N
I 

52624085Q
 (TC
A
T) 

N
om
bre de reconocim
iento 

(D
N
): c=
ES, o=
À
rea 

M
etropolitana de Barcelona, 

2.5.4.97=
VA
TES-P0800258F, 

ou=
Em
pleat públic de nivell 

m
ig, sn=
Saez Talan - D
N
I 

52624085Q
, 

givenN
am
e=
C
ristina, 

serialN
um
ber=
ID
C
ES-52624085

Q
, cn=
C
ristina Saez Talan - D
N
I 

52624085Q
 (TC
A
T) 

Fecha: 2026.01.28 21:43:05 

+
01'00'

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 1 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

P
ro

jecte d
e la S

ala p
o

livalen
t d

e
 el P

ap
io

l | E
l P

ap
io

l 
 

Ín
d

e
x

 d
e

 v
o

lu
m

s

D
1 M

e
m

ò
ria

 i a
n

n
e

x
o

s 
D

2
 P

là
n

o
ls 

D
3

 P
le

c
 d

e
 p

re
sc

rip
c

io
n

s tè
c

n
iq

u
e

s 
D

4
 P

re
ssu

p
o

st 

0
1-16

 
17-18

 
19

 
2

0
 

0
1-16

 
M

em
ò

ria 
A

n
n

e
x 0

1. 
T

o
p

o
g

rafia i rep
lan

teig
 

A
n

n
e

x 0
2

. 
S

erveis afectats 
A

n
n

e
x 0

3
. 

In
fo

rm
ació

 g
eo

tècn
ica 

A
n

n
e

x 0
4

. 
C

àlcu
l d

e
 l’estru

ctu
ra 

A
n

n
e

x 0
5

. 
P

ro
tecció

 co
n

tra in
cen

d
is 

A
n

n
e

x 0
6

. 
C

àlcu
l d

e
 les in

stal·lacio
n

s 
A

n
n

e
x 0

7. 
C

ertificació
 d

e l’eficièn
cia e

n
erg

ètica 
A

n
n

e
x 0

8
. 

P
la d

e
 co

n
tro

l d
e q

u
alitat 

A
n

n
e

x 0
9

. 
A

sp
e

ctes am
b

ien
tals 

A
n

n
e

x 10
. 

E
stu

d
i d

e g
estió

 d
e resid

u
s d

e
 d

em
o

lició
 i 

co
n

stru
cció

 
A

n
n

e
x 11. 

P
la d

’o
b

ra 
A

n
n

e
x 12

. 
E

stu
d

i d
e seg

u
retat i salu

t 
A

n
n

e
x 13

. 
In

stru
cció

 d
’ú

s i m
an

te
n

im
en

t 
A

n
n

e
x 14

. 
J

u
stificació

 d
e p

re
u

s 
A

n
n

e
x 15

. 
F

itxa resu
m

 d
e

 les característiq
u

es d
e

l p
ro

je
cte

 
A

n
n

e
x 16

. 
B

E
P

 
A

n
n

e
x 17. 

E
stu

d
i acú

stic 
A

n
n

e
x 18

. 
M

o
n

ito
rització

 
A

n
n

e
x 19

. 
Llicèn

cia am
b

ien
tal 

A
n

n
e

x 2
0

. 
P

lan
tacio

n
s 

A
n

n
e

x 2
1. 

X
arxa d

e
 reg

 
A

n
n

e
x 2

2
. 

In
fo

rm
e u

rb
an

ístic

17
-18

 

U
. D

efin
ició

 u
rb

an
ística i d

’im
p

lan
tació

 
A

. D
efin

ició
 arq

u
itectò

n
ica 

S
I. S

eg
u

retat en
 cas d

’in
cen

d
i 

E
. S

istem
a estru

ctu
ral 

C
. S

istem
a co

n
stru

ctiu
 

I. S
istem

a d
e

 co
n

d
icio

n
am

en
ts, in

stal·lacio
n

s i se
rveis 

M
O

. M
o

b
iliari 

P
L. P

lan
tacio

n
s i jard

in
e

ria 
U

E
. U

rb
an

ització
 d

els e
sp

ais exterio
rs 

IM
. Im

atg
es 

   

19
 

0
1. 

P
lec d

e
 p

re
scrip

cio
n

s tè
cn

iq
u

es g
en

e
rals 

0
2

. P
lec d

e
 p

re
scrip

cio
n

s tè
cn

iq
u

es p
articu

lars 
  

2
0

 
0

1. 
A

m
id

am
en

ts 
0

2
. E

stad
ística d

e p
a

rtid
es 

0
3

. Q
u

ad
re d

e
 p

reu
s 

0
4

. P
ressu

p
o

st 
0

5
. R

esu
m

 d
e

 p
ressu

p
o

st 
0

6
. Ú

ltim
 fu

ll 
  

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 2 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

 

  2  ALUCOBOND PLUS 

 

GENERAL INFORMATION 

MANUFACTURER 
Manufacturer VP-001 3A Composites GmbH 

Address Alusingenplatz 1 78224 Singen Germany 

Contact details VP-003 info@alucobond.com 

Website https://www.alucobond.com/en/ 

EPD STANDARDS, SCOPE AND VERIFICATION 
Program operator EPD Hub, hub@epdhub.com 

Reference standard EN 15804+A2:2019 und ISO 14025 

PCR EPD Hub Core PCR Version 1.1, 5 Dec 2023                       

Sector Construction product 

Category of EPD Third party verified EPD 

Scope of the EPD Cradle to gate with modules C1-C4, D 

EPD author VP-004 Martin Oddershede, JJW Architects 

EPD verification 
Independent verification of this EPD and data, 
according to ISO 14025: 

 Internal verification  External verification 

EPD verifier VP-055 Lucas Pedro Berman, as an authorized verifier 
acting for EPD Hub Limited 

The manufacturer has the sole ownership, liability, and responsibility for the 
EPD. EPDs within the same product category but from different programs may 
not be comparable. EPDs of construction products may not be comparable if 
they do not comply with EN 15804 and if they are not compared in a building 
context. 

 

PRODUCT 
Product name VP-007 ALUCOBOND PLUS 

Place of production Germany 

Period for data VP-013 2022 

Averaging in EPD No averaging 
Variation in GWP-fossil for A1-A3  0 % 

ENVIRONMENTAL DATA SUMMARY 

Declared unit 1 square meter with a total panel 
thickness of 4 mm 

Declared unit mass 7.6 kg 

GWP-fossil, A1-A3 (kgCO2e) 2,25E+01 

GWP-total, A1-A3 (kgCO2e) 2,14E+01 

Secondary material, inputs (%) 0.88 

Secondary material, outputs (%) 64.5 

Total energy use, A1-A3 (kWh) 110 

Net freshwater use, A1-A3 (m3) 0.17 

 

  3  ALUCOBOND PLUS 

 

PRODUCT AND MANUFACTURER 

ABOUT THE MANUFACTURER 
3A Composites Europe, the manufacturer behind ALUCOBOND®, is a leading 
provider of aluminium composite materials. They have been at the forefront 
of metal facades for over 50 years, offering products known for their flatness, 
formability, durability, and ease of fabrication. ALUCOBOND® materials are 
utilized in both exterior and interior architectural applications, known for 
their design flexibility and aesthetic appeal. The company operates with a 
commitment to sustainability and innovation, providing a wide range of 
colors and finishes to inspire and realize architectural visions. ALUCOBOND® 
for the European market is 100% produced in Germany.   
  

framework for implementing sustainability aspects in their  
business activities. This is reflected in their externally certified health, safety, 
energy, environmental and quality management systems (ISO 45001, ISO 
50001, ISO 14001, ISO 9001).  

PRODUCT DESCRIPTION VP-009 
ALUCOBOND® PLUS is a composite panel featuring two aluminium cover 
sheets with a fire-retardant mineral-filled polymer core which stand for 
sustainable building quality and the highest design standards. It is specifically 
developed to meet more stringent fire safety requirements in architecture. 
The façade material is characterised by its precise flatness, surface and colour 
variety as well as excellent formability. ALUCOBOND® PLUS is easy to process, 
break-proof, impact-resistant and weather-resistant.   
Aluminium is an excellent lightweight construction material which requires a 
high degree of primary energy during initial production, but is suitable for 
very long usage periods in the industry, transport and construction areas 
because of its optimum recycling properties (100 % infinitely recyclable).  
The ALUCOBOND®  core material mainly consists of mineral components 

which use a small amount of primary energy and can still be 100 % recycled 
and returned to the reusable material cycle. The flameproofing of the core 
material is exclusively realised using mineral additives. The use of halogen 
compounds in the core material is avoided.  
 
Further information can be found at https://www.alucobond.com/en/. 

PRODUCT RAW MATERIAL MAIN COMPOSITION VP-010 
Raw material category Amount, mass % Material origin 

Metals 34.7 EU 

Minerals 44.2 EU 

Fossil materials 21.1 EU 

Bio-based materials <1 EU 

BIOGENIC CARBON CONTENT VP-028-C 
 

Biogenic carbon content in product, kg C 0 

Biogenic carbon content in packaging, kg C 0.43 

FUNCTIONAL UNIT AND SERVICE LIFE 

Declared unit VP-011 
1 square meter with a total 
panel thickness of 4 mm 

Mass per declared unit 7.6 kg 

Reference service life 60 

SUBSTANCES, REACH - VERY HIGH CONCERN VP-027-C 
The product does not contain any REACH SVHC substances in amounts greater 
than 0,1 % (1000 ppm). 
  

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 3 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

 

  4  ALUCOBOND PLUS 

 

PRODUCT LIFE-CYCLE 

SYSTEM BOUNDARY 
This EPD covers the life-cycle modules listed in the following table. 

Product stage Assembly 
stage 

Use stage End of life stage Beyond the 
system 

boundaries 

A1 A2 A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

x  x  x  M
N

D  

M
N

D  

M
N

D  

M
N

D  

M
N

D  

M
N

D  

M
N

D  

M
N

D  

M
N

D  

x  x  x  x  x  

Raw
 m

aterials 

Transport 

M
anufacturing 

Transport 

A
ssem

bly 

U
se 

M
aintenance 

Repair 

Replacem
ent 

Refurbishm
ent 

O
perational energy use 

O
perational w

ater use 

D
econstruction/ dem

olition 

Transport 

W
aste processing 

D
isposal 

Reuse 

Recovery 

Recycling 
Modules not declared = MND. Modules not relevant = MNR 

MANUFACTURING AND PACKAGING (A1-A3) VP-018 
The environmental impacts considered for the product stage cover the 
manufacturing of raw materials used in the production as well as packaging 
materials and other ancillary materials. Also, fuels used by machines, and 
handling of waste formed in the production processes at the manufacturing 
facilities are included in this stage. The study also considers the material 
losses occurring during the manufacturing processes as well as losses during 
electricity transmission. 
Generally, rolled ingots are cast from application-specific aluminium alloys 
using the continuous casting method. These rolled ingots are then passed 
between two rotating steel rollers that are spaced slightly closer together 

than the thickness of the ingots. The friction from the rollers picks up the 
ingots, compressing them to the distance between the rollers. This process 
primarily elongates the material longitudinally.     Multiple rolling sequences 
are typically required to achieve the final thickness. As needed, thermal 
treatments are applied to obtain the desired material properties, such as 
workability and rigidity. The aluminium strips are coated to their final width 
through a continuous varnish application process (coil coating). Solvents used 
during this process are collected and thermally recycled for curing the 
varnish.    In the next step, the coated strips are laminated and cut to length 
with a continuously produced core (e.g., extrusion). 

TRANSPORT AND INSTALLATION (A4-A5) 
Transportation impacts occurred from final products delivery to construction 
site (A4) cover fuel direct exhaust emissions, environmental impacts of fuel 
production, as well as related infrastructure emissions. 
 
Please note that while this module has not been included within the system 
boundaries, the packaging (in module A3) and the waste produced (in 
modules C3-C4) have been considered. 

PRODUCT USE AND MAINTENANCE (B1-B7) VP-043-C 
This EPD does not cover the use phase. 
Air, soil, and water impacts during the use phase have not been studied. 
  

 

  5  ALUCOBOND PLUS 

 

PRODUCT END OF LIFE (C1-C4, D) VP-049-C 
Façade elements and flat panels can often be removed non-destructively, 
depending on the mounting system. This can be done by unscrewing them or 
drilling out the rivets. However, non-destructive dismantling is generally not 
possible for panels that have been glued in place.  Dismantled products, if 
undamaged, can be reused according to their original designated purpose. 
When sorted correctly, these elements can be shredded to separate the 
aluminium and the core material, both of which can then be recycled. The 
core material also supports the smelting process if recycling only the 
aluminium.  Aluminium composite panels are accepted by scrap dealers 
among other recycling options. 

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 4 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

 

  6  ALUCOBOND PLUS 

 

MANUFACTURING PROCESS VP-019  

 

  7  ALUCOBOND PLUS 

 

LIFE-CYCLE ASSESSMENT 

CUT-OFF CRITERIA VP-020 
The study does not exclude any modules or processes which are stated 
mandatory in the reference standard and the applied PCR. The study does not 
exclude any hazardous materials or substances. The study includes all major 
raw material and energy consumption. All inputs and outputs of the unit 
processes, for which data is available for, are included in the calculation. 
There is no neglected unit process more than 1% of total mass or energy 
flows. The module specific total neglected input and output flows also do not 
exceed 5% of energy usage or mass. 

ALLOCATION, ESTIMATES AND ASSUMPTIONS VP-050-C 
Allocation is required if some material, energy, and waste data cannot be 
measured separately for the product under investigation. All allocations are 
done as per the reference standards and the applied PCR. In this study, 
allocation has been done in the following ways: 
 

Data type Allocation 

Raw materials No allocation 

Packaging material Allocated by mass or volume 

Ancillary materials Allocated by mass or volume 

Manufacturing energy and 
waste Allocated by mass or volume 

AVERAGES AND VARIABILITY VP-026-C 
Type of average No averaging 

Averaging method Not applicable 

Variation in GWP-fossil for A1-A3 0 % 
 
This EPD is product and factory specific and does not contain average 
calculations. 

LCA SOFTWARE AND BIBLIOGRAPHY  
This EPD has been created using One Click LCA EPD Generator. The LCA and 
EPD have been prepared according to the reference standards and ISO 
14040/14044. The EPD Generator uses Ecoinvent v3.8, Plastics Europe, 
Federal LCA Commons and One Click LCA databases as sources of 
environmental data. 
 
 

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 5 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

 

  8  ALUCOBOND PLUS 

 

ENVIRONMENTAL IMPACT DATA 
CORE ENVIRONMENTAL IMPACT INDICATORS  EN 15804+A2, PEF VP-029-C 
Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

GWP  total1) kg CO2e 2,06E+01   2,14E+01 MND MND MND MND MND MND MND MND MND   4,43E+00   

GWP  fossil kg CO2e 2,03E+01  1,81E+00 2,25E+01 MND MND MND MND MND MND MND MND MND   3,45E+00   

GWP  biogenic kg CO2e     MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00    

GWP  LULUC kg CO2e     MND MND MND MND MND MND MND MND MND      

Ozone depletion pot. kg CFC-11e     MND MND MND MND MND MND MND MND MND      

Acidification potential mol H+e     MND MND MND MND MND MND MND MND MND      

EP-freshwater2) kg Pe     MND MND MND MND MND MND MND MND MND      

EP-marine kg Ne     MND MND MND MND MND MND MND MND MND      

EP-terrestrial mol Ne     MND MND MND MND MND MND MND MND MND      

3) kg 
NMVOCe 

    MND MND MND MND MND MND MND MND MND      
ADP-minerals & 
metals4) 

kg Sbe     MND MND MND MND MND MND MND MND MND      

ADP-fossil resources MJ 3,08E+01 6,17E+00 4,97E+00 4,19E+01 MND MND MND MND MND MND MND MND MND   4,28E+00 1,23E+00  

Water use5) m3e depr. 7,47E+00   8,38E+00 MND MND MND MND MND MND MND MND MND   4,02E+00   
1) GWP = Global Warming Potential; 2) EP = Eutrophication potential. Required characterisation method and data are in kg P-eq. Multiply by 3,07 to get PO4e; 3) POCP = Photochemical ozone formation; 4) ADP = Abiotic depletion potential; 
5) EN 15804+A2 disclaimer for Abiotic depletion and Water use and optional indicators except Particulate matter and Ionizing radiation, human health. The results of these environmental impact indicators shall be used with care as the 
uncertainties on these results are high or as there is limited experience with the indicator. 
 

  

 

  9  ALUCOBOND PLUS 

ADDITIONAL (OPTIONAL) ENVIRONMENTAL IMPACT INDICATORS  EN 15804+A2, PEF 
Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Particulate matter Incidence     MND MND MND MND MND MND MND MND MND      

Ionizing radiation6) kBq 
U235e

1,20E+00   1,49E+00 MND MND MND MND MND MND MND MND MND   2,54E+00   

Ecotoxicity (freshwater) CTUe 4,78E+02 5,55E+00 1,83E+01 5,02E+02 MND MND MND MND MND MND MND MND MND   4,18E+01 2,31E+03  

Human toxicity, cancer CTUh     MND MND MND MND MND MND MND MND MND      

Human tox. non-cancer CTUh     MND MND MND MND MND MND MND MND MND      

SQP7) - 2,31E+01 7,11E+00 1,28E+02 1,58E+02 MND MND MND MND MND MND MND MND MND   2,27E+00 2,64E+00  
6) EN 15804+A2 disclaimer for Ionizing radiation, human health. This impact category deals mainly with the eventual impact of low-dose ionizing radiation on human health of the nuclear fuel cycle. It does not consider effects due to possible 
nuclear accidents, occupational exposure nor due to radioactive waste disposal in underground facilities. Potential ionizing radiation from the soil, from radon and from some construction materials is also not measured by this indicator; 7) 
SQP = Land use related impacts/soil quality. 

USE OF NATURAL RESOURCES 
Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Renew. PER as energy8) MJ 1,09E+02  1,25E+01 1,22E+02 MND MND MND MND MND MND MND MND MND   2,62E+00   

Renew. PER as material MJ  0,00E+00 1,38E+01 1,38E+01 MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00    

Total use of renew. PER MJ 1,09E+02  2,63E+01 1,36E+02 MND MND MND MND MND MND MND MND MND      

Non-re. PER as energy MJ 2,40E+02 6,17E+00 2,82E+01 2,75E+02 MND MND MND MND MND MND MND MND MND   4,64E+01 1,23E+00  

Non-re. PER as material MJ 7,04E+01 0,00E+00 4,23E+00 7,46E+01 MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00    

Total use of non-re. PER MJ 3,11E+02 6,17E+00 3,24E+01 3,49E+02 MND MND MND MND MND MND MND MND MND   4,59E+01   

Secondary materials kg     MND MND MND MND MND MND MND MND MND     2,28E+00 

Renew. secondary fuels MJ     MND MND MND MND MND MND MND MND MND      
Non-ren. secondary 
fuels 

MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Use of net fresh water m3     MND MND MND MND MND MND MND MND MND   8,78E+01   
8) PER = Primary energy resources.   

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 6 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

 

  10  ALUCOBOND PLUS 

END OF LIFE  WASTE 
Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Hazardous waste kg 6,51E+00   6,59E+00 MND MND MND MND MND MND MND MND MND    0,00E+00  

Non-hazardous waste kg 2,43E+01  2,43E+00 2,69E+01 MND MND MND MND MND MND MND MND MND    4,15E+00  

Radioactive waste kg     MND MND MND MND MND MND MND MND MND    0,00E+00  

END OF LIFE  OUTPUT FLOWS 
Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Components for re-use kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Materials for recycling kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00 4,56E+00 0,00E+00 0,00E+00 

Materials for energy rec kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00  0,00E+00 0,00E+00 

Exported energy MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 MND MND MND MND MND MND MND MND MND 0,00E+00 0,00E+00 4,17E+00 0,00E+00 0,00E+00 

ENVIRONMENTAL IMPACTS  EN 15804+A1, CML / ISO 21930 
Impact category Unit A1 A2 A3 A1-A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 C1 C2 C3 C4 D 

Global Warming Pot. kg CO2e 1,78E+01  1,79E+00 2,00E+01 MND MND MND MND MND MND MND MND MND   3,37E+00   

Ozone depletion Pot. kg CFC-11e     MND MND MND MND MND MND MND MND MND      

Acidification kg SO2e     MND MND MND MND MND MND MND MND MND      

Eutrophication kg PO43e     MND MND MND MND MND MND MND MND MND      

 kg C2H4e     MND MND MND MND MND MND MND MND MND      

ADP-elements kg Sbe     MND MND MND MND MND MND MND MND MND      

ADP-fossil MJ 3,15E+02 6,17E+00 3,24E+01 3,54E+02 MND MND MND MND MND MND MND MND MND   1,22E+02 1,23E+00  

 
  

 

  11  ALUCOBOND PLUS 

VERIFICATION STATEMENT 

VERIFICATION PROCESS FOR THIS EPD 
This EPD has been verified in accordance with ISO 14025 by an independent, 
third-party verifier by reviewing results, documents and compliancy with 
reference standard, ISO 14025 and ISO 14040/14044, following the process 
and checklists of the program operator for: 
 

 This Environmental Product Declaration 
 The Life-Cycle Assessment used in this EPD 
 The digital background data for this EPD 

 

THIRD-PARTY VERIFICATION STATEMENT 
I hereby confirm that, following detailed examination, I have not established 
any relevant deviations by the studied Environmental Product Declaration 
(EPD), its LCA and project report, in terms of the data collected and used 
in the LCA calculations, the way the LCA-based calculations have been 
carried out, the presentation of environmental data in the EPD, and other 
additional environmental information, as present with respect to the 
procedural and methodological requirements in ISO 14025:2010 and 
reference standard. 
 
I confirm that the company-specific data has been examined as regards 
plausibility and consistency; the declaration owner is responsible for its 
factual integrity and legal compliance. 

 

 
I confirm that I have sufficient knowledge and experience of construction 
products, this specific product category, the construction industry, relevant 
standards, and the geographical area of the EPD to carry out this 
verification. 
 
I confirm my independence in my role as verifier; I have not been involved in 
the execution of the LCA or in the development of the declaration and have 
no conflicts of interest regarding this verification. 
 
Lucas Pedro Berman, as an authorized verifier acting for EPD Hub Limited 
20.09.2024 
 

 
 

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 7 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 8 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 9 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 10 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 11 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 12 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 13 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 14 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 15 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 16 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

Impacto medioambiental 
 
 

 
Etapa de 

Fabricación 
Etapa de Construcción Etapa de Uso Etapa de fin de vida  

Parámetro 

Potencial de 
Calentamiento 
Global (GWP) 
kg CO2 eq  

8.1E-01 1.0E-01 2.3E-02 0 MNA MNA MNA MNA MNA MNA MNA 1.5E-03 MNA 9.5E-03 -4.0E-02 

El potencial de calentamiento global de un gas se refiere a la contribución total al calentamiento global que resulta  de la emisión de una unidad de este gas en comparación con una unidad del gas de referencia, dióxido de carbono, al que se 
asigna el valor de 1. 

Potencial de 
Agotamiento de 
Ozono (ODP) 
kg CFC11 eq 

1.5E-08 7.3E-08 1.8E-09 0 MNA MNA MNA MNA MNA MNA MNA 1.0E-09 MNA 2.4E-09 -3.1E-10 

Destrucción de la capa estratosférica de ozono que protege la tierra de la radiación ultravioleta peligrosa para la vida. Esta destrucción de ozono se debe a la descomposición de ciertos compuestos que contienen cloros y/o bromos 
(clorofluorocarbonos o halones), que se descomponen cuando llegan a la estratósfera y destruyen catalíticamente las moléculas de ozono. 

Potencial de 
Acidificación (AP) 
kg SO2 eq 

5.2E-03 6.3E-04 1.3E-04 1.0E-10 MNA MNA MNA MNA MNA MNA MNA 8.9E-06 MNA 5.5E-05 -1.8E-04 

La deposición de ácido tiene impacto negativo en ecosistemas naturales y el entorno creado por el hombre incluyendo edificios. Las fuentes principales de emisiones de sustancias acidificantes son agricultura y combustión de combustibles 
fósiles usados para le producción de electricidad, calefacción y transporte. 

Potencial de 
Eutrofización (EP) 
kg PO4 3- eqv 

5.4E-04 1.5E-04 5.1E-05 0 MNA MNA MNA MNA MNA MNA MNA 2.2E-06 MNA 1.8E-05 -1.3E-05 

Enriquecimiento excesivo de aguas y superficies continentales con nutrientes, y sus efectos biológicos adversos asociados. 

Formación de Ozono 
Fotoquímico (POCP) 
kg Etano eq 

5.5E-04 4.6E-05 1.6E-05 0 MNA MNA MNA MNA MNA MNA MNA 6.5E-07 MNA 2.2E-05 -8.8E-05 

Reacciones químicas provocadas por la energía solar. Un ejemplo de reacción fotoquímica es la reacción de óxidos de nitrógeno con hidrocarburos en presencia de la luz solar para formar ozono. 

Potencial  de 
Agotamiento Abiótico 
para recursos no 
fósiles (elementos 
ADP) kg Sb eq 

1.3E-07 9.3E-11 3.1E-09 0 MNA MNA MNA MNA MNA MNA MNA 1.3E-12 MNA 9.1E-09 -5.3E-09 

Potencial  de 
Agotamiento Abiótico 
para recursos fósiles 
(ADP-fósiles) 
MJ 

13 1.3 0.3 0 MNA MNA MNA MNA MNA MNA MNA 1.8E-02 MNA 2.2E-01 -1.3E+00 

Consumo de recursos no renovables, y por lo tanto disminución de su disponibilidad para las generaciones futuras. 

Uso de recursos 
 

 
Etapa de 
Fabricaci

ón 

Etapa de 
Construcción 

Etapa de Uso Etapa de fin de vida  

Parámetro 

Uso de energía primaria 
renovable excluyendo fuentes 
de energía primaria renovable 
utilizadas como materias 
primas 
- MJ/UF 

2.2 8.8E-04 4.4E-02 0 MNA MNA MNA MNA MNA MNA MNA 1.2E-05 MNA 3.7E-03 -6.8E-02 

Uso de fuentes de energía 
primaria renovable utilizadas 
como materias primas - 
MJ/UF 

--* --* --* 0 MNA MNA MNA MNA MNA MNA MNA --* MNA --* --* 

Uso total de fuentes de 
energía primaria renovable- 
MJ/UF 

2.2 8.8E-04 4.4E-02 0 MNA MNA MNA MNA MNA MNA MNA 1.2E-05 MNA 3.7E-03 -6.8E-02 

Uso de energía primaria no 
renovable excluyendo fuentes 
de energía primaria no 
renovable utilizadas como 
materias primas 
- MJ/UF 

12.0 1.3 2.7E-01 0 MNA MNA MNA MNA MNA MNA MNA 1.8E-02 MNA 2.3E-01 -1.3E+00 

Uso de energía primaria no 
renovable utilizada como 
materias primas 
 - MJ/UF 

3.2 4.2E-06 6.5E-02 0 MNA MNA MNA MNA MNA MNA MNA 6.0E-08 MNA 0 -2.0E-02 

Uso total de fuentes de 
energía primaria no renovable 
- MJ/UF 

15.0 1.3 3.4E-01 0 MNA MNA MNA MNA MNA MNA MNA 1.8E-02 MNA 2.3E-01 -1.3E+00 

Uso de materias secundarias - 
kg/FU 

1.7E-01 0** 0** 0 MNA MNA MNA MNA MNA MNA MNA 0** MNA 0** 0** 

Uso de combustibles 
secundarios renovables 
- MJ/UF 

0** 0** 0** 0 MNA MNA MNA MNA MNA MNA MNA 0** MNA 0** 0** 

Uso de combustibles 
secundarios no renovables - 
MJ/UF 

0** 0** 0** 0 MNA MNA MNA MNA MNA MNA MNA 0** MNA 0** 0** 

Uso neto de agua dulce- 
m3/UF 

5.0E-03 1.2E-04 1.5E-05 0 MNA MNA MNA MNA MNA MNA MNA 1.8E-06 MNA 2.3E-04 -9.4E-05 

por lo tanto esta celda se ha dejado en blanco intencionalmente. No se incluye aquí el material de embalaje, revestimiento y ligante. La energía primaria se calcula como indicador 
relacionado al producto. Sin embargo, la producción de materiales de embalaje materiales de incluye dentro de los módulos A1 A3. 
** No se utilizan en A3 combustibles secundarios renovables o no-renovables. El uso minoritario de combustibles secundarios como parte de los datos registrados históricos no se tiene en cuenta.

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 17 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

Categorías de residuos 
 

 
Etapa de 
Fabricaci

ón 

Etapa de 
Construcción 

Etapa de Uso Etapa de fin de vida  

Parámetro 

Residuos peligrosos - kg 1.1E-04 2.9E-05 2.8E-06 0 MNA MNA MNA MNA MNA MNA MNA 4.1E-07 MNA 0 -1.5E-07 

Residuos no peligrosos - kg 1.3E-01 2.3E-04 2.7E-03 0 MNA MNA MNA MNA MNA MNA MNA 3.3E-06 MNA 0 -1.7E-03 

Residuos radioactivos - kg n/a* 1.9E-12 2.0E-12 0 MNA MNA MNA MNA MNA MNA MNA 2.7E-14 MNA 0 -3.0E-11 
 
* En una planta ROCKWOOL (A3) no hay nunca residuos radioactivos, sólo potencialmente en su cadena previa (A1 y A2), que no se tiene en cuenta aquí. 
 

Salidas 

 
Etapa de 
Fabricaci

ón 

Etapa de 
Construcción 

Etapa de Uso Etapa de fin de vida  

Parámetro 

Componente para reutilizar - 
kg 

n/a n/a n/a 0 MNA MNA MNA MNA MNA MNA MNA n/a MNA 0 n/a 

Materiales para reciclaje - kg 1.0E-03 n/a 2.2E-02 0 MNA MNA MNA MNA MNA MNA MNA n/a MNA 2.1E-02 n/a 

Materiales para recuperación 
de energía - kg 

3.4E-04 n/a 1.6E-02 0 MNA MNA MNA MNA MNA MNA MNA n/a MNA 0 n/a 

Energía exportada - MJ n/a n/a n/a 0 MNA MNA MNA MNA MNA MNA MNA n/a MNA n/a n/a 

 

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 18 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 19 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 20 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 21 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 22 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 23 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 24 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 25 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 26 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 27 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 28 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 29 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol



DOCUMENT IDENTIFICADORS

ESTATSIGNATURES
ALTRES DADES

PROJECTE (TD99-010): PROJECT_MEMORIA_ANNEX 9C_PROJECTE_OBRES
_SALA_POLIVALENT_29012026_29012026

Codi per a validació: 27BVS-PAT3B-6UNHO
Pàgina 30 de 30

NO REQUEREIX SIGNATURES

A
qu

es
ta

 é
s 

un
a 

cò
pi

a 
im

pr
es

a 
de

l d
oc

um
en

t e
le

ct
rò

ni
c 

(R
ef

.: 
38

68
60

11
 2

7B
V

S
-P

A
T

3B
-6

U
N

H
O

 2
3D

6B
0A

00
64

E
53

02
30

F
75

E
8C

3B
70

8B
33

54
C

A
8A

3E
) 

ge
ne

ra
da

 a
m

b 
l'a

pl
ic

ac
ió

 in
fo

rm
àt

ic
a 

F
irm

ad
oc

. E
l d

oc
um

en
t n

o 
re

qu
er

ei
x 

si
gn

at
ur

es
. M

itj
an

ça
nt

 e
l c

od
i d

e
ve

rif
ic

ac
ió

 p
ot

 c
om

pr
ov

ar
 la

 v
al

id
es

a 
de

 la
 s

ig
na

tu
ra

 e
le

ct
rò

ni
ca

 d
el

s 
do

cu
m

en
ts

 s
ig

na
ts

 e
n 

l'a
dr

eç
a 

w
eb

: h
ttp

s:
//a

cc
ed

e.
di

ba
.c

at
/v

er
ifi

ca
do

r.
js

p?
co

di
go

_e
nt

id
ad

=
el

pa
pi

ol




